
Name: ____________________________________ 4-Digit Subtraction

Subtracting

  Find the differences.

a. 4, 9 0 7 b. 8, 0 5 5 c. 8, 2 5 3

- 1, 7 1 2 - 6, 8 1 9 - 4, 9 5 0

d. 7, 5 3 5 e. 1, 4 5 0

- 9 2 0 - 9 2 7

f. 6, 9 0 6 g. 9, 1 9 2 h. 5, 5 5 5

- 3, 0 8 5 - 6 4 8 - 3, 6 3 7

Work Space
        i.     Mr. Beets has a 25-acre pumpkin patch.

Last week he harvested 985 pumpkins.  
This week he harvested 1,092 pumpkins. 
How many more pumpkins did he harvest
this week than last week?
(Show your work. Circle and label your answer.)       

        j.     Miss Cobb runs a large farm stand.
This year she sold 3,405 bushels of apples.
Last year she sold 2,332 bushels of apples.
How many more bushels did she sell this year
than last year? 
(Show your work. Circle and label your answer.)       

Super Teacher Worksheets   -    www.superteacherworksheets.com

http://www.superteacherworksheets.com/


ANSWER KEY

Subtracting

  Find the differences.

a. 4, 9 0 7 b. 8, 0 5 5 c. 8, 2 5 3

- 1, 7 1 2 - 6, 8 1 9 - 4, 9 5 0

3, 1 9 5 1, 2 3 6 3, 3 0 3

d. 7, 5 3 5 e. 1, 4 5 0

- 9 2 0 - 9 2 7

6, 6 1 5 5 2 3

f. 6, 9 0 6 g. 9, 1 9 2 h. 5, 5 5 5

- 3, 0 8 5 - 6 4 8 - 3, 6 3 7

3, 8 2 1 8, 5 5 4 1, 9 1 8

Work Space
        i.     Mr. Beets has a 25-acre pumpkin patch.

Last week he harvested 985 pumpkins.  1,092 - 985 = 
This week he harvested 1,092 pumpkins. 
How many more pumpkins did he harvest 107 pumpkins
this week than last week?
(Show your work. Circle and label your answer.)       

        j.     Miss Cobb runs a large farm stand.
This year she sold 3,405 bushels of apples. 3,405 - 2,332 = 
Last year she sold 2,332 bushels of apples.
How many more bushels did she sell this year      1,073 bushels of apples
than last year? 
(Show your work. Circle and label your answer.)       
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